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I Read the passage below and answer the questions. For all the questions, write

the letter (@), (b), (C), or (d) on your answer sheet.

A3
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A3

(“The education revolution must be equalized,” Nature [Editorials], Vol. 585,

September 24, 2020 X V¥ —EZRLZE)

pandemic*! = RRYYE O HFATHRIT

tertiary education*? = BEHEH
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terrestrial*® = H#i LD
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Rl 1 In Paragraph [1], which of the following is closest in meaning to
“upended”?
(@ wvalidated
(b) overthrown
(©) renewed

(d) overshadowed

] 2 In Paragraph [ 2], what does “It” mean?
(@) the move from classroom education to online education
(b) the spread of the COVID-19 pandemic
(C) the day-to-day use of technology like laptops and smartphones

(d) the centuries-old tradition

Rl 3 According to Paragraph [ 3 ], which of the following statements is true?
(@) Tertiary education is a new aspect of online education.
(b) Online courses are now fading in importance.
(C) Much time has passed since online teaching was first implemented by
universities worldwide.
(d) Online courses remain supplementary to in-person learning even in the

age of the pandemic.

] 4 In Paragraph [4 ], what does the expression “within reach” mean?

(@) physically close
(b) attainable
(€) impossible

(d influential
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] 5 Which of the following would best summarize Paragraph [ 5 ]?
(@) UNESCO is tracking school closure.
(b) Nearly one billion children are staggering due to COVID-19.
(€) Fewer than 50 countries are refusing to reopen schools.
(d A surprisingly large number of children are denied access to educational

institutions.

] 6 In Paragraph [6], which of the following is closest in meaning to

“Internet penetration”?

(@) availability of the Internet
(b) the Internet servers’ performance
(C) advantages of the Internet

(d) the Internet search engines

B 7 In Paragraph [7], which of the following is closest in meaning to

“COVID-19 secure”?

(@ closed until the pandemic has ended
(b) protected from the risks of COVID-19
(C) fully infected with the coronavirus

(d) inaccessible to people with COVID-19

Y

] 8 In Paragraph [8], what does “setbacks now will last a lifetime’

mean?
(@) current disadvantages will eventually be overcome
(b) current advantages will be set off in the afterlife
(C) current disadvantages will affect people for the rest of their lives

(d) current advantages will be appreciated in the future
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1 9 Which of the following would best complete the summary of Paragraph
[9] below?

New online technologies provide young people in the deprived areas with
opportunities to receive higher education, but the children in those

communities

(@) think they can afford primary or secondary education

<

are encouraged to go to the vocational school

c

do not feel the need for higher education

=

do not even receive sufficient education to attain that educational stage

5110 What is most likely this author’s goal?
(@) to ensure healthy lifestyles and promote physical well-being for all
(b) to ensure access to affordable, reliable, sustainable and modern energy
for all
(C) to ensure inclusive and equitable quality education and promote lifelong
learning opportunities for all
(d to promote sustainable economic growth, full employment and decent

work for all
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II Read the passage below and answer the questions. For all the questions, write

the letter (@), (b), (C) or (d) on your answer sheet.

A3
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A3

(Colleen Barry, “Plant a tree: Milan’s ambitious plans to be cleaner, greener,”

Smithsonian Magazine, December 18, 2018 X D —fek %)
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il 1 According to Paragraph [ 1], why is Milan’s predominant color gray?
@) If is the color of the city’s flag and sports teams.
(b) It is the color of the stones used in buildings and the polluted sky.
(C) Tt is the traditional color used to paint the buildings.

(d) It is a classical celebration of stylish fashion.

/] 2 In Paragraph [ 5], what does “They” refer to?
(@) Boeri’s pair of high-rises
(b) PM10 particles
(C) shrubs and trees

(d) some ad-hoc projects

fi] 3 Which of the following is closest in meaning to “mitigating” in Paragraph
[8]1?
(@) making less serious
(b) increasing over time
() moving to another location

(d) making something end

il 4 According to Paragraphs [10] and [11], rank the cities in order from
having the least to having the most “green canopy.”
(@ Milan now — Milan in 2030 — Frankfurt — Amsterdam
(b) Milan now — Amsterdam — Milan in 2030 — Frankfurt
(€) Milan now — Milan in 2030 — Amsterdam — Frankfurt

(d Frankfurt » Amsterdam — Milan in 2030 — Milan now
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B 5 Which of the following is closest in meaning to “endures” in Paragraph

[12]?
(@) blames
(b) enjoys

(C) entertains

(d) suffers

i 6 Which of the following is NOT mentioned in Paragraph [15]» as a place
where they plan on planting trees?
(@) in seven new parks
(b) on flat rooftops
(C) at schools

(d) along wide streets in the city

B 7 Why is Boeri’s Vertical Forest mentioned in a reading about planting
trees?
(@) Itis an example of a green project with several benefits.
(b) It is creating an island and absorbing sound.
(C) Several cities, like Paris, Nanjing, and Eindhoven also want Boeri’s
designs.
(d More than 20 species of birds visit the green buildings instead of other

trees.

1 8 Which of the following is NOT true about the residents of the Vertical
Forest? They experience
(@ cleaner air and cooler temperatures
(b) visits from a variety of bird species
(C) picking fruits from cherry and pear trees
(d) improved psychological states of mind
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i 9 Which of the following would Boeri most likely disagree with?
(@) His building ideas for fighting climate change could help in other cities
in the world.
(b) Fighting climate change is not democratic, because only rich people can
plant trees.
(C) People not living in his towers need to use air conditioning too often.
(d) Planting trees should help improve people’s health and psychological

state of mind.

110 Approximately how many trees were already in Milan before the tree-
planting program?
(@ 1 million
(b) 3 million
(€©) 5 million

(d 10 million
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I Currently in Japan, most people must pay about 30% of the cost of treatment
or medicine received at clinics or hospitals. However, some people say that it
would be better to make people pay more. Do you think people should have to
pay more than 30% at clinics or hospitals? Answer in English, in the form of a
paragraph, in about 120 words. Start by stating your position. Give at least two

reasons for your opinion.
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